
Solution :

On pose x = RX, y = RY, L = RS et l = RQ. Donc
RX
XS

 =
x

L  x
et

RY
YQ

 =
y

l  y
 .

Aire de PSX : A1 =
l  (L  x)

2

Aire de PQY : A2 =
L  (l  y)

2

Aire de PQY : A3 =
x y
2

A3 = A2   donne x y = L  (l  y)  soit x =
L  (l  y)

y

A3 = A1   donne x y = l  (L  x)  soit x(y + l) = l  L   soit x =
L  l
y + l

On obtient donc :
L  (l  y)

y
 =

L  l
y + l

   soit
l  y

y
 =

l
y + l

    soit   (l  y)(l + y)  = y l    soit y2 + l y  l2 = 0.

Discriminant :  = l2  41( l2) = 5 l2   donc y =
l  5l

2
    ou y =

l + 5l
2

Or y  0, donc y =
5  1
2

l .  Alors l  y =
3  5

2
l

Donc
RY
YQ

 =
y

l  y
 =

5  1
3  5

  =
5  1

3  5
 3 + 5

3 + 5
  =

2 5 + 2
4

     soit
RY
YQ

 =
5 + 1
2

.

De la même manière on montre que
RX
XS

 =
5 + 1
2

 .
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